9.472 POS1 POS.2

) A -

X=CAP COLOR 87 T 612.00 Model
[ 7.30 No. l ‘
‘ .f \, PALG OFF ON

[ |
Term.

291 13

A a0 ~ Comm.

M12x0.75S| OPEN
[ EPOXY
500 130 = | SCHEMATIC —t
: 3
A127 y 330

SWITCH FUNCTION

i - EPOXY W

? J L 110 PART NO. PART NAME QTY
2.80 1 | MNU- PAO3 M12 X 0.75 NUTS 1
FLAT 2 [ MNU-1Mo9 LOCKING WASHER 1
3 | mcP-P005 SPLASH PROOF O-RING 1
FILE NAME:HARDWARE-0012
A $.689 .507
$17.50 12.9
' CASX-5
H L X=CAP COLOR
|
! 1 | white
i 2 | Black
| $.535
i 3 |Red
SPECIFICATIONS 913.60
Max. current/voltage rating with resistive load: 4 | Orange
100mA 24VDC Panel cut-out S | Yellow
INITIAL CONTACT RESISTANCE: 50 m () max. _— 6 | Green
INSULATION RESISTANCE: 1 GQmin. at 500VDC. 7 |Blue
DIELETRIC STRENGTH: 1,000 VAC rms. s s
ELECTRICAL LIFE AT FULL LOAD: 200,000 cycles. rown
PANEL THICKNESS: 1.5 mm (.059) min. -4 mm (.157) max. MATERIALS 9 | Gray
TOTAL TRAVEL: 2.5 mm(.098). CASE: Glass filled Nylon 6/6(UL94v-0).
OPERATING FORCE: 2N~5N. CAP: Polyamide 6/6.
CONTACT BOUNCE: 10 ms. BUSHING: Polyamide 6/6.
TORQUE: 0.5 Nm max. applied to nut. TERMINAL/CONTACTS:Gold over silver plated.
SOLDERING: 350°C max. for 5 seconds. RoHS:2002/95/EC EARRECh -
DongGuan Double Credit Co.,Ltd.
KK T . 4 . 2% . . . . SIZE
9 B R B R+ R AM SCALE (H:@U) : 3:2 ETLE Sub - Miniature Pushbutton Switches | Ad
1 ® 4 A
oy DWG NO. UNIT [ inch
T o TOLERANCE (/A7) : N 1P67 ( o
0.00 mm + 0.25mm el L | mm
- REV. SHEET
3| © 0.0 mm % 0.40mm wor | A DG | MAR-08-2010 [S5ET M of 1
4 ) ANGULAR : £5 CHECKED BY RICHARD DRAWN BY
o | ® FILE NAME : PASP0149 % % W | 'RENE

A :C FHHRIE - QR-0507




551

— — .098 2.512 -
14.00 - a0 $13.00
%\ 630
16.00 §
_llo e.039
21.00
M12x0.75 S Q2L K
® MNU-PAO3 MNU-1MO09 MCP- P005
PART NO. PART NAME QTY

1 | MNU- PAO3 M12 X 0.75 NUTS 1

2 | MNU-1M09 LOCKING WASHER 1

3 | MCP-P005 SPLASH PROOF O-RING 1

DongGuan Double Credit Co.,Ltd.
wi RRA BRBRT XL SCALE ([1.fff): 3:2 | Ime HARDWARE S | A4
1 @ MNU-PAO1 MNU-PA03 NOV-24-2009 - DVI%IG%IO E_ inch
7 | ® g%'(—)ERANCEO%x;f?)i s | M12X0.75 BUSHING PART [ | -
. mm + 0.Zomm L

3| © 0.0 mm + 0.40mm w1 B | | MAY -21-2008 |STEETH of 4
4 ) ANGULAR :  5° CHECKED BY / DRAWN BY
o) ® FILE NAME : HARDWARE-0012 = RICHARD s FION

A :C FHEHESE - QR-0507



